	CSIT 301
	Name: _____________________________


1. Determine the Hamming-code parity bits for the following two sets of data. Assume even parity. 
	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	1
	0
	0
	1
	1
	0
	0
	0
	1
	1
	0
	0
	1
	1


2. Assuming a single-bit error and even parity, locate the offending bit from the two following sets of information. 
	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	0
	1
	1
	0
	1
	0
	1
	0
	0
	0
	0
	0
	1
	0


	Groups violating parity
	Offending bit

	2
4


	6


3. Enter the binary string into the CRC generator, taking bits from the left. Note the first four bits just shift in.  Until there is a 1 in the leftmost position, it is just simple shifting. 

	0
	
	0
	0
	0
	
	
	10111011010

	
	
	
	
	
	
	
	

	1
	
	0
	1
	1
	
	
	1011010

	
	
	
	
	
	
	
	

	1
	
	1
	1
	0
	
	
	011010

	
	
	
	
	
	
	
	

	0
	
	1
	0
	1
	
	 
	11010

	
	
	
	
	
	
	
	

	1
	
	0
	1
	1
	
	
	1010

	
	
	
	
	
	
	
	

	1
	
	1
	1
	0
	
	
	010

	
	
	
	
	
	
	
	

	0
	
	1
	0
	1
	
	
	10

	
	
	
	
	
	
	
	

	1
	
	0
	1
	1
	
	
	0

	
	
	
	
	
	
	
	

	1
	
	1
	1
	1
	
	
	


4. Suppose you have the 32-bit integer written in Hex as 5A82179D.  How would it be stored in memory in a system using the little-endian approach? 
	Little-endian

	Memory Location
	Value

	500
	9D

	501
	17

	502
	82

	503
	5A

	504
	

	505
	

	506
	

	507
	

	508
	


5. Suppose you have the 32-bit integer written in Hex as 22F5FAC8.  How would it be stored in memory in a system using thebig-endian approach? 
	Big-endian

	Memory Location
	Value

	500
	22

	501
	F5

	502
	FA

	503
	C8

	504
	

	505
	

	506
	

	507
	

	508
	


